
namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Multiplicera decimaler med negativa krafter på tio

7888, 2 × 0.1 = ________ 7531, 6 × 0.01 = ________

3892, 5 × 0.01 = ________ 5021, 9 × 0.0001 = ________

1382, 3 × 0.001 = ________ 2589 × 0.001 = ________

4419, 9 × 0.01 = ________ 4956, 8 × 0.01 = ________

9875, 9 × 0.0001 = ________ 6772, 8 × 0.001 = ________

7941 × 0.01 = ________ 4196, 6 × 0.01 = ________

9508, 1 × 0.001 = ________ 3593, 7 × 0.001 = ________

2298, 3 × 0.1 = ________ 8686, 7 × 0.0001 = ________

2345 × 0.01 = ________ 6998, 5 × 0.0001 = ________

3005, 9 × 0.1 = ________ 5610, 1 × 0.01 = ________
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namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Multiplicera decimaler med negativa krafter på tio

7888, 2 × 0.1 = 788.82 7531, 6 × 0.01 = 75.316

3892, 5 × 0.01 = 38.925 5021, 9 × 0.0001 = 0.50219

1382, 3 × 0.001 = 1.3823 2589 × 0.001 = 2.589

4419, 9 × 0.01 = 44.199 4956, 8 × 0.01 = 49.568

9875, 9 × 0.0001 = 0.98759 6772, 8 × 0.001 = 6.7728

7941 × 0.01 = 79.41 4196, 6 × 0.01 = 41.966

9508, 1 × 0.001 = 9.5081 3593, 7 × 0.001 = 3.5937

2298, 3 × 0.1 = 229.83 8686, 7 × 0.0001 = 0.86867

2345 × 0.01 = 23.45 6998, 5 × 0.0001 = 0.69985

3005, 9 × 0.1 = 300.59 5610, 1 × 0.01 = 56.101
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